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Note: a resident of a city that reads on the 14" is called, in our 8’2110, a "1’y j2’ those residing in cities that read on the 15" — “ 712 13"
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L 3 MwN: misc. MaYn of NH7N RIPn
a. 771 that goes to a 713 and vice-versa reads according to his hometown if he intends to return
1 ~27. if he intends to return by the night of the 14
a.  Source: vl: n11a read on 14t if they are in mra:applies to 713 12
b.  Villager: in town reads on 14" in any case (expanded days don’t apply to him)
b.  Beginning point: of required reading:

1. »77. all - [v5 — qpin of vIMWYNK; v6 — why did wv1mwnr use p”nina "3 ete... 2 mw killed etc.]
2. a1 1. from v2 —[v5 — 9pn of »31n; v6 — why did »379n upset ... D> miracle etc.]
3. »op /7. from v3 [v5 — 9pin of 1nn; v6 — why did 1nn get angry at Jews...>was hanged etc.]
4. »7awT. from v4 [v5 - 9pn of vy; v6 — why did king ask for chronicles...>01]
c.  Ancillary m5i7 of N9 (RIN))
1. 27 19N is a 190 — may not be stitched with linen;
a.  Also: called n that if it has only 3 stiches, sufficient
i. 2’7 must be spaced out at even intervals
2. S8mw: reading n9an written among other n™av invalid

a.  ~27 only if it isn’t distinguishable (in height)
i.  Only applies: to reading Maxa (lack of 71ax T112)

3. 7 1. the margins above and below the stitching of a n”o are n"n%n

a.  Real reason: so it doesn’t rip
4. pr /7. if smallest gap was open in cave at "o 77, nwn (& 1°9R) would've died (v7)
5. pny 1. v8 = 'n showed nwn all future ww1PN, including nYn RPN

II. 17 mwn: all may read n%»n except 1"wn
a.  7mi 7 validates reading of 1op (if 1nY »an)
b.  Authoship: of our nwn

1 »py /7. who invalidates reading of wan even Tay*12
2. 1 1 (and Y”an7): requires ability to hear n%nnab (per v9)
3. »n”1 (and »ro p2 w*37 71773 71717 *): requires intent only (per v10)
a.  Note: about nmn> "
i.  His testimony: about reading when he was a minor was rejected,
a. Since; he was a minor when it happened - not trustworthy

ii.  737s testimony: about reading when he was a minor in the presence of nTn> "3
a. Proves: nothing — nnn jn ORI PRYIN PR
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